T B B X i T REERR S
EREAB|T M3 F 2 A 12 EREAB|T M3 F 2 A 12 H
Bt 1 £ B S| ER & RS 103 E BB ERETE S

I\ (7

N N7 ﬁfﬁ%ix\\\\df,’/ﬂﬂ(‘g)ai, NNV W
. 0 250 500 m
— (1105000 me———r

= i
A TN e e f»%fq T
FA R B S<E - ER R BoRGE (EHRD R 1JHf 1258
[ARB AR H35-5120%, B SR R ORRE 72
T ebieun, |

BARABZENEE |2ERHORE

X #B #&# S [1-8964

X i3 0 & ¥ |ErifEe

RiOFEH |[BEESEHETE

N !
74 \?

L=
it / ) =

\ / /
e e e e
ORI, EHEEAEICIHMBRIC. RACIOIRBRERFZLEZLOTHY ., —MELG-TRADEENHYFT,
FHLE EREHRICE RS,

B S B B C )
)
O




:I:E'J““%%EZEEE%EQEH(T)L‘JE@E)

EELGTEI 2415178

F'""*'TﬁEG FT7E i [ZERS ST #




Bt KREHA
SH24E18178
BmE ) @)l KE)

=
=1

3]

|

\ =
(
)
|\

it

500 750 1000 m

250

i

==
ZN

(. B LERDOROAREFETNIEELELN, |

-

SR\
M///V
=

:

AERMOAER

= 3

T REHRT- M IRES

E &4 (ERE)

I -8964
R+ i4H6

EME7#

=,

i

2R

R

%

Hh

SUERH4IE R (S=1/25,000)

Z, & ! it
A § g S ¢ =
AL o) o = S50 b
., N A 3 >
R 4 & \rj < Y 3
o S HA\ % > ; N
O S 2
|-——= 3 N \ : = fs )
= - 3 =S 7
= \ 4 4 | o) ) BN S S C
u T 7 SN SRy
Z < 2 - S S
= \ o 1 i i % >
4 \ = R 597 9y s C \ » i
N~ s 1 > = = y 7 =
4, \ < 7

(BE)R 1JHf 1258 | AR BT 555

=

e = 7K

H D= T Hb g

-

[

==0;

S




THREEREASHER

#xX 41 _ | AEERE = SH2&E1817H
EAES | 1 -8964 I EF A I fEE /7 86 | P |[#ERSEhRT M
\\\X\\\\\?\\\\\\\ \\\;:
N
S\ \\\\\\\\\k\\ ] //////
384.5 %
/
' )
i

BT

R TR R i

ZDHDR I




THREFERREFHER

___ | SREEmB | SM2F1H178
| mifeih [EERSEmES#

W N <
A \ sy~

Tl

: . -
 HERITEDH
el BT
R RTERES, C | &%
o m 400
M ImE _ -
TRRE HA SR
BRI R R
@@@@@@@ 9.1 21
 tREOERIZLE AR
DHEFEIZ N

0 9
| I
PO VAV




